Rorekdg £ 1103 #

[% ZXBA] X Z4% (HXALHEH)

(35
S
o
it
|

RRAE TEH &4

1. BRADLEY is a corporation ____ principal business is the manufacturing
and sale of toilets.

(A) whose (B) in which (C) so that (D) how

2. The landlord finally fixed the problem that ___ tenants over the past
two weeks.

(A) had been annoying (B) annoys (C) would be annoying (D) has annoyed

3. The bank ___ to closing most deals in dollars, but due to client demand
began accepting Euros as well.

(A) would accustom (B) were accustoming (C) should have been accustoming (D)

had been accustomed
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